Name

SOLUTIONS TO EQUATIONS #4

Directions: Match each equation on the left to the correct solution on the right. The correct solution will make both

sides of the equation equal each other. Write the letter of the correct solution in the space provided.

Examples: x =2 isasolution to 5x + 4x - 3 =15 X =2 is not a solutionto 5x + 3x —3 =11
because because
5(2)+4(2)-3=15 5(2) +3(2)-3#11
1) 10 =12x +19 — 24x A) x=-10
2) 8x—-16 —4x =-17 B) x=2/7
3) 70 =—-x+-4x+20 C) x=-1/10
)| 2X—4—-4x =6 D) x=-5
5) —8X—X=-9x+8-X E) x=0
—X 1
6) —+13==(—x)+(-x)-3 F) x=8
2 2
7) 3X+11+2x =11-2x+ 2x G) x=-11
8) 20x-10x-13=-14 H) x=3/4
9) l+1—x:—6x—x—12 ) x=-1/4
2 X
10) 7X—4 = -10x+ +24X + (—6) J) x=-2
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